SRS 6 A1 HBAE (o A0 - HARAHSEA)

Rephrg | e | s[5 (A) I |Z (B) AP | EE(A+B) | K
T 2, 470 -3 2, 796 0 2, 852 11 5, 648 -11
JHPTHT— T H 1,032 —4 933 -5 851 -3 1, 784 -8
T — T H 592 5 562 -1 571 1 1, 133 0
P =TH 672 -3 729 -2 674 —4 1, 403 -6
JHPTHTIU T H 499 -3 519 -2 536 -5 1, 055 -7
P HT H 332 2 360 1 330 -1 690 0
PR T H 290 3 356 0 378 5 734 5
FEoEHT 203 1 198 0 211 0 409 0
A 378 0 445 -1 463 -1 908 -2
T H 1,912 4 1,988 0 2, 052 1 4, 040 1
PIPTHT 344 3 341 4 338 3 679 7
T 919 —4 980 —4 965 -1 1, 945 -5
T —TH 281 -2 356 -2 395 -1 751 -3
HT T H 353 -1 445 -2 443 4 888 2
Al =T H 512 0 689 ) 660 2 1,349 0
FHTIY T H 286 2 398 1 379 4 777 5
T 237 1 265 0 253 0 518 0
H] = 306 3 365 0 342 2 707 2
=K 438 1 455 0 457 -3 912 -3
=V AR —T A 0 0 0 0 0 0 0 0
= ARHT T H 31 0 44 0 43 0 87 0
LI 111 1 128 -1 123 1 251 0
— Y KHTH 5 0 5 0 5 -1 10 -1
KH B 688 3 862 1 873 3 1,735 4
Be4x| 4,549 1 4, 879 0 5, 093 -2 9,972 -9
IRl 4,812 6 4, 609 -3 4, 694 6 9, 303 3
Tk 2] 1,404 -2 1,513 1 1, 564 2 3, 077 3
B+ 6 0 10 0 7 0 17 0
s LR—TH 934 0 799 -1 964 2 1,763 1
E+HR_TH 1, 147 3 1,117 4 1,184 -2 2,301 2
ELR=TH 879 1 800 3 868 3 1, 668 6
ELARMNTH 727 2 717 1 725 —4 1, 442 -3
B LRI TH 734 2 788 2 687 -1 1, 475 1
ELHRANTH 0 0 0 0 0 0 0 0
R o 1,971 -10 1, 956 -7 1, 852 -5 3, 808 -12
oy E—TH 300 0 308 0 301 1 609 1
[ e = 245 -2 257 -1 248 -1 505 -2
oy =TH 435 3 437 0 452 3 889 3
o EPUT B 779 -9 711 -3 834 —7 1, 545 -10
Wy T B 459 -2 497 -3 521 -2 1,018 -5
IT—T1H 257 1 300 2 333 1 633 3
FEET T H 584 7 583 7 653 7 1,236 14
T =T H 188 0 188 0 230 0 418 0
2 33, 301 6 | 34,688 -13 | 35,404 -4 | 70,092 —17




